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e Please check that this question papercontains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer+book during this period.
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General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and:17 - 21 are very short-answer questions carrying
1 mark each. They.are required to be answered in one sentence each.

(iv)  Questions No. 6 =10 and 22 - 26 are short-answer questions carrying
3 marks each, Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) (5Questions No. 14 — 16 and 30 — 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

58/1/2 5
A - ONE INSTITUTE OF COMPETITIONS, PH - 9872662038, 9872642264




A ONE INSTITUTE — A SYNONYM TO SUCCESS, OFFICE — SCO 322, SECTOR 40 D, CHANDIGARH

wus A
SECTION A

*1,  3IcAIGT GHAT o HeH H e < fawar & e o1ide qou 1 AW Sarsy | 1

Name the economic value achieved through the spread of education in
the context of production potential.

2. Hiura ITfar Y gt i | 1
Define marginal utility.
3. for @vmi & 3 g T | 1

Give two examples of fixed costs.

4.  I& 1 qfd o “Ged” 1 Teh HRV FATRW | 1

Give one reason for “decrease” in supply of/a good.

5.  3cled 9 W 3N9d f8r A w0 gedig 2 1

Why does average fixed cost fall with increase in output ?

6. A 3R B yfqedrad s&qu 8.4 A i Sd H gfg % B H AT W G9E hl
AT HIT | 3

A
Hi1 4 “gfg” % Tbecl G PRV ! AT FHINT |

A and B are substitute goods. Explain the effect of rise in price of A on
the demand for B.

OR

Explain any two causes of “increase” in demand.

7. qid 9%k % afs AR fawend & gl q Rl 1 =Amen HNT | 3

Explain any two causes of a rightward shift in supply curve.
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8.  3cUTed % Jcdeh TR W Hd YREd! AINTd o UNehaid hifTT 3
AT (3hTEAl) 1|21 31| 4] 5|6
T @ () 13| 9| 8 | 10| 15| 17

Calculate average variable cost at each level of output :

Output (units) 1 2 3 4 5 6
Marginal cost () 13 9 8 L P55 o

9. U g% i hiAd 10 Fied Sig4 d IFehI gfd 150 $HIE & Igeht. 180 TS &l
Tt B | 3EehT gfd <t a1 gitehe Hife | 3

10 percent increase in the price of a good raises its sapply from 150 units
to 180 units. Calculate its price elasticity of supply.

10. ‘T 3cATeA i hl THEAT T 3¢9F Bl & ? GHEISC | 3
Why does the problem of ‘what to produce’ arise ? Explain.
11. T Ui Sfaaifl ST9R 6l §& foRward seisy | 4

State the main features of a perfectly competitive market.

12. Tk SUNITHT Sl g1 SIS FIITHT HAT 8 3N dge § 2 | fewmse &%
o <61 B S WA T SR A & | ST e 5 ar
REEIEN 4
A consumer consumes only two goods and is in equilibrium. Show that
price and demand for a good are inversely related. Explain using utility

analysis.

13. T _10 9fd 3hrE hl v W Teh I& shl AT AT 1500 3518 2 | 3Eeh! AT I
HTd A (<) 1-53 | STe 3Heh! hiFd Tt T 8 Uid $h1s & Sdl &, dl 3Hehl
T A fehaet Bt 2 giterem HifSe | 4

UaT
AT <hl AT AT ol Uehad i <hl SamHd fafer it samean i |
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The quantity demanded of a good is 1500 units at the price of ¥ 10 per
unit. Its price elasticity of demand is (-) 1-5. Calculate its quantity
demanded, when its price falls to ¥ 8 per unit.

OR
Explain the geometric method of calculating price elasticity of demand.

14. TF 9%g o q(d STE 1 379 TSy R 36k a%q i hmd, AT 3R _gid
T YHTEl i TEE i AT T | (T 1 S i) 6

Explain the meaning of excess supply of a commodity and its chain of
effects on price, demand and supply of the commodity. (usediagram)

ie : HET/TRET J97 act IREIT TASmiaal & 1o7q o7 FEld4 & &7 W 3 |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 14.

T 9% % q(d SE H1 31 THLAIY I 3k a%] 1 hHiHd, T R Y
X YHTE! i @ shl ST hIT | (TfcTshT T FART HifT) 6

Explain the meaning of ‘excess supply’ of a commodity and its chain of

effects on price, demand and supply of the commodity. (use a schedule)

15. 3cdTed o fohd TR W IdIeh Fgard i feafd § g 2 3799 I o fo7w s

AT | (g g St e m (wute) fafer o s Hifs) 6
3IcUTe (3ehTSaN) 1 =2 =3t 4~ 5
%A M (FH) () 6.\.12 M 18Iy 2130
Fe Ard () 7 | 13|18 | 24 | 31

At what level of output will the producer be in equilibrium ? Give
reasons for your answer. (Use marginal cost and marginal revenue

approach)
Output (units) 1 2 3 4 5
Total Revenue (3) 6 12 | 18 | 24 | 30
Total Cost (¥) 7 13 | 18 | 24 | 31
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16.  STRWE J5h TIweiN0T hl TRl § STHIAT o T hl SAT&dl hivT | 6
HAAAT

Teh IUHRHT hadl &l Sl ol IUMNT HLAT & | STAAAT forweryor St wgrran &
SYMIRRT o T ! SRS HIT |

Explain consumer’s equilibrium with the help of indifference curve
analysis.

OR
A consumer consumes only two goods. Explain consumer’s equilibrium
with the help of utility analysis.

Qus
SECTION B

17. TEE 3caTe hi gfm @i | 1
Define national product.

18.  IUYNT IEqAT sl TR ST | 1
Define consumption goods.

19. TIHN a9 AT Bl 8.2 1
What is a government budget ?

20. ITIIE B H Gl SR SIS | 1

Give twoexamples of indirect taxes.

21, ATy ST =T Bl 8 2 1

What are time deposits ?

22. 3IHd S9d Ygfd H1 A FAY | NFd ITHN T 6 Y FHHT FAT qEAY
2IAT 8 ? 3

Give the meaning of average propensity to save. What is its relation
with average propensity to consume ?
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23. A Uk T 31 AHSST | SHHT =AW IR Alhad qoI RT g dhai 8 2 3

Explain the meaning of investment multiplier. What can be its

minimum and maximum value ?

24. YTAH g @Id % 99 @A 3R YSd @d § b el % IR W AS
iR | 3

Distinguish between current account and capital account of the balance
of payments account on the basis of its components.

25. 3T & TshiY Ya1g <hl ST hIfSu | 3
Explain the circular flow of income.

26. g % T HUY HE hl AR HIfT | 3
37era

“HTHR & SR o ®Y H h1d Soh shiM{HERT I ST ST |

Explain the ‘store of value’ functionfof money.

OR
Explain the role of centralbank as a “Banker to the government”.

27. TfafEd siiwel & “Hre ara W e qoa gafg” 1 aiehed i 4
(T &gl 5)
() eI ITHIT 300
(i) Tl H UiEdd 50
(ii) Toa Tucaey = 70
Gv) feshi 500
(v)  oT9d Yoft ol ITHM 20
(vi) AR 40
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Calculate “Net value added at factor cost” from the following data :

(T in Lakhs)
) Intermediate consumption 300
(11) Change in stock 50
(iii)  Net indirect taxes 70
(iv)  Sales 500
(v)  Consumption of fixed capital 20
(vi) Imports 40

28. dIUIfysh sh OR@ H0T fohH YHR od & ? Tk Sl hl HgRdl §

Uy | 4
ST

Yol SIS ok hIIehalTd ol 379 THSSU(| $hral deh TgT 9fd ol F=Hd &

T 3HeRT =T 58 LT B 2

How do commercial banks create credit ? Explain with the help of an

example.

OR

Explain the mieaning of open market operations. How is it used by the

central bank to control money supply ?

*29, Hhegld S faesft ggr Al HHa dgd W FRE e * folu sen I3 B |
HSSY 394 -4 3Teh Hod WHA & Sl [oh 3TH SCH] § FFal-4d @ | 4
The central bank takes steps to control rise in the price of foreign

exchange. Explain the economic values it involves as far as the common

man is concerned.
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30. “Suftheh TSI A I TN hITIT 6
(& #gl 5)
i) TSt &3 1 R A | fFaa
T It F AR 31 700
(i) W W 40
(iii)  Toeen @ faat &res o™ (-) 20
(iv) HousE 50
(v)  Th fomfea & <hi srd 150
(vi) EThHR & FTe] FEdTaLor 80
(vil) TER RO | &S 60
(viii) aRERI grT fqu 7T yeaer she 70
(ix) foesi =t faa =g seaiaw (-) 10
arorert
TY A 1 Ieha hIfTE. ; 6
(T #gl 7)
() Traa SRSt fmio 150
(i) ORI TTH ITH = 300
(iii) . f9¢eN & fHaa S ™ (=) 20
(iv) Tl sif=w Suam == 600
(v)  HoIB™ 30
(vi) THaa 50
(vii) Taa st 90
(vii)) 39 foava & faa =me gearaw 40
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Calculate “Personal disposable income” :

(T in Crores)

1) Net domestic product at factor cost

accruing to private sector 700
(i1)  Corporation tax 40
(iii) ~ Net factor income from abroad (=) 20
(iv)  Depreciation 50
(v) Savings of private corporate sector 150
(vi)  Current transfers from government 80
(vii) National debt interest 60
(viii) Direct taxes paid by households 70
(ix) Net current transfers to abroad (=) 10

OR

Calculate national income :

(< in Crores)
(1) Net domestic.capital formation 150

(i1))  Government final consumption expenditure 300

(iii)  Net factor income from abroad (=) 20

(iv) “Private final consumption expenditure 600

(v) Depreciation 30

(vi)  Net exports 50

(vii) Net indirect taxes 90

(viii) Net current transfers from rest of the world 40
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31. (1) TR 3IUUNT R YRa I9am & i 7 FaEy |
(F) UH deyaEen & SR § fou mu fAfafea stiwsl @ s@h I &

HqfeTd T T I hITTT 6
() Hu I YER = 05

(i) T STHN = 300

(ii) Trerr = 6000

(a)  Distinguish between autonomous consumption and’ induced

consumption.

(b)  From the following data about an econemy, calculate its

equilibrium level of income :

(i) Marginal propensity to consume # = 05
(i1)) ~ Autonomous consumption = 300
(iii) Investment = 6000
32. THfaRed H Wg T : 6

() T et iR g

() TS =911 3SR =men
Distinguish between the following :

(a)  Revenue receipts and Capital receipts

(b) Revenue deficit and Fiscal deficit
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